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REPORTED SPEECH — READ THE RULES FIRST & TRY THESE QUESTIONS :
1. "You can't bathe in this sea," he said to me, "it's very rough."
Reported speech:

a) He said that you couldn't bathe in the sea if it was very rough.

b) He said that you can't bathe in this sea since it was very rough.

c) He said that | can't bathe in this sea because it's very rough.

d) He said that | couldn't bathe in that sea as it was very rough.

2. Choose the correct reported speech of a given sentence: "Don't try this at home," the stuntman told the
audience.

a) The stuntman advised the audience do not try that at home.
b) The stuntman advised the audience not to try that at home.
c¢) The stuntman advised the audience not to tried that at home.
d) The stuntman advises the audience not to try that at home.
3. He said, "Be quiet and listen to my words".

Reported speech:

a) He said you should be quiet and listen to my words.

b) He said they should be quiet and listen to his words.

c) He urged them to be quiet and listen to his words.

d) He urged them and said be quiet and listen to words.

4. He said to me, "I have often told you not to play with fire".

Reported speech:




a) He told me that he had often told me not to play with fire.

b) He said that he has often been telling me not to play with fire.
c) He said to me that he often told me not to play with fire.

d) He reminded me that he often said to me not to play with fire.
5. Choose the correct reported speech of a given sentence: "Does she know Robert?" he wanted to know.
a) He wanted to know if she knows Robert.

b) He wants to know if she knew Robert.

c) He wanted to know if she knew Robert.

d) He wanted to know if she has known Robert.

6. “Do you want some more sweets?" asked my friend.

Reported speech:

a) My friend asked me if | want some more sweets.

b) My friend asked me whether | wanted some more sweets.

c) My friend asked me that | wanted some more sweets.

d) My friend said to me if | wanted some more sweets.

7. Choose the correct reported speech of a given sentence: "Say hello to Jayesh," they said.
a) They asked me to say hello to Jayesh.

b) They ask me to say hello to Jayesh.

c) They asked me to said hello to Jayesh.

d) They told me to say hello to Jayesh.

8. He said to his friend, "please wait for me".

Reported speech:

a) He told his friend to wait for him.

b) He requested his friend that he should wait for him.

c¢) He said to his friend to wait for him.

d) He requested his friend to wait for him.




9. He said, "Why didn't you send your application to me?"

Reported speech:

a) He inquired why did | not send my application to him.

b) He inquired why had | not sent his application to me.

c) He inquired why | had not sent my application to him.

d) He inquired why | did not send my application to him.

10. He says, "l don't want to play anymore".

Reported speech:

a) He says that he doesn't want to play anymore.

b) He says that | didn't want to play anymore.

c) He says that | don't want to play anymore.

d) He says that he didn't want to play anymore.

11. The teacher said to Ram, "Congratulations! Wish you success in life."

Reported speech:

a) The teacher congratulated Ram and said wish you success in life.

b) The teacher wished congratulations to Ram and wished him success in life.

c) The teacher congratulated Ram and wished him success in life.

d) The teacher wished congratulations and success in life to Ram.

12. My father said to us, "You should study and get a good division in the examination."
Reported speech:

a) My father told us that we shall study and get a good division in the examination.
b) My father said us that we should study and got a good division in the examination.
c) My father tells us that we should study and get a good division in the examination.
d) My father told us that we should study and get a good division in the examination.
13. He said to them, "Don't make a noise".

Reported speech:




a) He tells them not to make noise.

b) He told them that don't make a noise

c) He told them not to make a noise.

d) He asked them not to make a noise.

14. Choose the correct reported speech of a given sentence: "Go to the blackboard," said the teacher.

a) The teacher ordered me to went to the blackboard.

b) The teacher said to me to go to the blackboard.

c) The teacher orders me to go to the blackboard.

d) The teacher ordered me to go to the blackboard.
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given. Write the incorrect word and the correction in the sp:
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range of sounds with what they
should communicate fear, alarm, o i

warning, anger as well as happlly
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Amantoaschool e.g. man wentto
to his son admitted there. (@) e
The principal asked the boy he ®) e
had learnt already. Before the (© e
boy answer, the father quickly @) ...
replied his son had (@) ...
learnt how walk and talk. The (1) e
principal wasn't prepared such @) e
an answer all. (h) e

2

Inadeveloping country India,
mostunderprivileged children not
enjoy even their right basic
education. They instead forced
tostart workinga tender age.
Victims child labourin fields,
rice-mills, factories etc., children

are left to fend for and their families.
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Ateacher ceasestolearn, also
ceasestoateacher. The willingness ...
inateachertolearnis makes
him/hercompetentteacher‘Ateacher (d)...
isafriend, philosopher andaguide

toall students his/her care. (@) .
Ttonlyfitting that we haveaday (179
dedicated those teachers whohave @
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Englishin Indiais only few (@)
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MATHS

Q1. Write 5 rational numbers between 5 & 6.

Q2. Write 4 irrational numbers between v3 & V5

Q3. Represent on a number line:  (a) v2 (b) v5 (c)vi0

Q4. Simplify :

() (3+V3)(2+V2) (i) WI1-VT)( VI1T+T7) (i) (V5 + V2)?
(iv) (2v2-3v3 + V11) + (5+3-2y2 +6411)
(v) 16 V15 + 443 (vi) 2V5 X65

Q5. Rationalise the denominator:

h e L PR 1 V2
{|} \'{E_ \f'g r||] ?+3\|"§ {”ll 3‘}.’5 [N‘ll 2 _"} EV:I \."E+ \E
Q6. Simplify :
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Q7. Simplify :

o) 64Y3 i) (3)_”2 (i) (%)5“ v YG2—

25
=3 Sey—3/2 -3
o [ (BT ()]
Q8. If p(x) = 2x3> = x? + 3x +1, then find the value of p(-1) + p(2)
Q9. Find the value of a, if x — a is a factor of 2x® — 2ax? +5x +a +6
Q10. Give possible expression for the length and breadth of the rectangle , which has area= a®> — 6a +8
Q11. Factorize: (m + 2n) 2+ 101(m + 2n) + 100
Q12. Factorise: 6 x> -7 x*—8x + 5
Q13. Factorise: x>+ 4x*+x—6

Q14. Factorise: y®—2y?—29y —42.

SCIENCE

Chemistry Worksheet

Class - 9th (Chapter 1 Matter in Our Surroundings )

Q1. Which of the following does not impact the evaporation rate?
(a) Insoluble heavy impurities

(b) Wind speed

(c) Surface area

(d) None of the above

Q2. The kinetic energy of the molecule is directly proportional
(a) Atmospheric pressure

(b) Temperature

(c) Both (a) and (b)

(d) None of the above

Q3. The phenomenon in which solid directly changes to gas
(a) Sublimation (b) Solidification
(c) Vapourisation (d) None of the above

Q4. Which of the following is the correct interpretation of dry ice?
(a) It is water in the vapour state




(b) It is water in a solid-state
(c) It is carbon dioxide in a vapour state
(d) it is carbon dioxide in a solid-state

Q5. What is the boiling point of water at sea level?
(a) OK (b) 100 K (c)373 K  ..(d) None of the above

Q6. What was the basic classification of elements in ancient times? Name them.

Q7. Fill in the blanks and give a suitable reason for your answer
. (1) As the temperature rises, particles move
(ii) With an increase in temperature, the kinetic energy of the particles also

Q8. We can break a piece of chalk into small particles on hammering, but it is impossible to break a
piece of iron in the same fashion. Why?

Q9. Find the density of a handful of sand with a mass of 208 g displacing a volume of 80 mL of water.

Q10. Why is liquid classified as a fluid?

Q11. Why does solid ice float on water?

Q12. By which physical process does the fragrance of burning an incense stick spread all around?

Q13. Name the physical process responsible for drying wet clothes. Why does the wind speed increase
the rate of drying of clothes ?

Q14. Which property of gases helps us in detecting the leakage of LPG ?

Q15. Convert the following temperature to the Kelvin scale.

(1) 65°C

(i) 300C

Q16. Is dry ice same as the normal ice? If no, then differentiate between dry and ordinary ice.

Q17. Why are the particles in liquid held together less firmly as compared to solids?

Q18. How will you differentiate between a gas and a vapour?

Q19. What are the necessary conditions of a substance to be classified as a matter?

Q20. A student spilt a bottle of ammonia in one corner of the laboratory. Soon the laboratory was filled
with a pungent irritating smell. The students immediately opened the windows and doors and
switched on the exhaust fans. After some time, students got relief. What did happen? Explain.

Physics Assignment - Motion

1. A particle is moving in a circle of diameter 5m. Calculate the distance covered and the displacement
when it completes 3 revolutions.

2. A body thrown vertically upwards reaches a maximum height‘h’. It then returns to ground. Calculate
the distance travelled and the displacement.

3. A body travels a distance of 15m from A to B and then moves a distance of 20m at right angles to

AB. Calculate the total distance travelled and the displacement.

4. An object is moving in a circle of radius‘r’.Calculate the distance and displacement




i) when it completes half the circle
ii) when it completes one full circle.
5. An object travels16m in 4s and then another 16m in 2s.What is the average speed of the object?

6. Vishnu swims in a 90m long pool. He covers 180m in one minute by swimming from one end to the
other and back along the same straight path. Find the average speed and average velocity of Vishnu.

7. In along distance race, the athletics were expected to take four rounds of the track such that the line
of finish was same as the line of start.Suppose the length of the track was 200m.

a. What is the total distance to be covered by the athletics?

b. What is the displacement of the athletics when they touch the finish line?

c. Is the motion of the athletics uniform or non-uniform?

d. Is the displacement of anathletic and the distance covered by him at the end of the race equal?

8. Starting from a stationary position, Bhuvan paddles his bicycle to attain a velocity of 6m/s in 30s.Then
he applies brakes such that the velocity of bicycle comes down to 4m/s in the next 5s. Calculate the
acceleration of the bicycle in both the cases.

9. Amit is moving in his car with a velocity of 45km/hr.How much distance will he cover
a) in one minute and
b) in one second.

10. The odometer of a car reads 2000 km at the start of a trip and 2400km at the end of the trip. If the
trip took 8hr,calculate the average speed of the car in km/hr and m/s

11. An electric train is moving with a velocity of 120km/hr.How much distance will it move in 30s?
12. A body is moving with a velocity of 15m/s. If the motion is uniform, what will be the velocity after
10s?
13. A train travels some distance with a speed of 30km/hr and returns with a speed of
45km/hr. Calculate the average speed of the train.
14. A train 100m long moving on a straight level track passes a pole in 5s.Find
a) the speed of the train
b) the time it will take to cross a bridge 500m long.

BIOLOGY WORKSHEET - Cell

A. Give reasons, why.




1.

Raisins and dry apricots swell up when placed in a bowl! containing water for

sometime.

2.
. Lysosomes are known as ‘ scavengers of the cells’.
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Chromatin, chromatid and chromosomes are related to each other.

. Plant cells possess large sized vacuole.
. Roots of plants have mostly leucoplasts in them than chloroplasts.

. Name the organelles which show the analogy written as under.
. Transporting channels of the cells, ——————- .

. Digestive bag of the cell ——————- .

. Storage sacs of the cells, ——————- .

. Control room of the celll. ——————- .

. Kitchen of the cell. ——————- .

. Powerhouse of the cell. ——————- .

. Packing & dispatching unit of the cell ——————- .

. Multiple choice questions.

. Select the odd one out

. Membranes are made of organic molecules like proteins and lipids.

. Molecules soluble in organic solvents can easily pass through membranes.

. Plasma membranes contain chitin sugar in plants.

. Movement of water across a semipermeable membrane is affected by the amount of

substances dissolved in it.
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. Cell organelles without a cell membrane are
. Nucleus

. Chloroplasts

. Ribosomes

. Golgi apparatus

. The proteins essential for building the cell membrane are manufactured by
. Rough endoplasmic reticulum

. Plasma membrane

. Mitochondria

. Golgi apparatus

. Silver nitrate solution is used to study
. Endoplasmic reticulum

. Nucleus

. Golgi apparatus

. Mitochondria




5. Plasmolysis in a plant cell is defined as

SOCIAL SCIENCE

1) Write a short note on the document ‘Declaration of the Rights of Man and citizen.’
2) What is the significance of the “Tennis Court Oath” in the French Revolution ?
3) Write the importance of Napoleon Bonaparte in the History of France and the world.

4) What landmark decisions were taken by the National Assembly led by the Third Estate on 4th August,
1789 ?

5) Explain the turmoil in France while the National Assembly was busy at Versailles.

6) Describe how the new political system of constitutional monarchy worked practice in France.
7) Who were Jacobins? What was their role in emergence of France as a Republic?

8) Evaluate the role of women in France before the revolution.

9) How did philosophers influence the thinking of the people of France?

10) How did the Revolution affect the everyday life of the French people? Discuss.

11) Why is India called a subcontinent?

12) How have been mountain passes been helpful in India since historic times? Explain.
13) Why Is the knowledge of latitude and longitude important for people?

14) How has the long coastline been beneficial to India?

15) Explain why 82°30’ E an odd value has been chosen as the standard meridian of India.

16) Why is the difference between the durations of day and night hardly felt at Kanyakumari but not so
in Kashmir?

17) Why is Indian Ocean named after our country? Give three reasons.

18) What is representative democracy?

19) Mention three essential features of democracy.

20) “China’s famine of 1958-61 was a result of government policies.” Explain.
21) How does democracy improve the quality of decision-making?

22) How does democracy enhance the dignity of the citizens?




23) Democracy provides a method to deal with differences and conflicts. Explain.
23) Why is democracy considered the best form of government?

25) What is the role of citizens in a democracy?

26) Give detail about Green Revolution.

27) What are the different ways of increasing production on the same piece of land? Use examples to
Explain.

28) Why do you think that farmers should avoid the use of chemical fertilizers to get more production?
29) Give examples of fixed capital and working capital.

30) What is human capital?

COMPUTER

1. List your strengths and weaknesses. Mention an action plan for any one weakness you want to
improve.

2. Read the following paragraph. “Manish got admission to a new school. His clothes were not
clean, shoes were not polished and laces were not tied. He did not smile at anyone and looked
sad. He did not look confident. Write in your sheet, what are the qualities of self-management
that you think are missing in Manish?”

3. Draw an outline of your right hand and label each finger with different factors that influence you
in managing yourself.

Q1- What do you understand by the term IT and ITeS?

Ans-Information Technology (IT) means creating, managing, storing and exchanging
information using all types of technology to deal with information.
ITeS: Information Technology that enables the business by improving the

quality of service is Information Technology enabled Services (ITeS).

Q2- What are the pros and cons of using ICT?




Ans- Pros of Using ICT are:
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. Easy and quick communication

. Anywhere anytime easy access to information

. Improved housing and lifestyle

. Increased the productivity and efficiency of every industry in the world.
. Convenience in travelling and education

. Encourages innovation and creativity

. Creation of new jobs -ICT has created new and interesting jobs.

Cons of using technology are:

1.

2.
3.

4.

Privacy: Your information on phone or emails can be hacked,

Cybercrime: Crimes like cyber bullying, phishing, identity theft, cyberstalking etc.

Reliability of Information — Any information on internet is not reliable.

Computer viruses, worms, Trojans, malware, spam can cause chaos and

disrupt our daily lives

Q3- What precautions are required to ensure that ICT use is safe?

Ans-Precautions required to use safe ICT are:

O 00 N O Ul AW N P

. Install protective software.
. Choose strong passwords.

. Back up on a regular basis.
. Control access to your machine.

. Use email and the internet safely.

. Protect sensitive data.

. Make Online Purchases from Secure Sites.
. Be Careful What You Post.

. Be Careful Who You Meet Online.

10. Be Careful What You Download.

Q4- What are the four main sub-sectors in the IT-BPM industry?

Ans-Four main sub sectors are:
IT Services

Business Process Management
Software Products




Engineering Research and Development

Q5-Give examples of use of IT in everyday life.

Ans- The use of IT in our daily life includes listening to music, watching movies, playing games, doing
office work, chatting and sending messages, managing daily planner, reading books, paying utility
bills, booking ticket to

travel, bank operations, etc.

Q6- How is IT used in libraries?

Ans- Nowadays many libraries are computerised. Each book has a barcode associated with it. This
makes it easier for the library to keep a track of books and the availability of a specific book.
Computer software is used to issue and return the book. Each book in the library has a magnetic strip
attached to it

that is deactivated before the book can be borrowed.

Q7- What are the various processes of education where IT is used?

Ans- IT is very helpful in education. Online lectures, study material and tests help
students learn a lot while sitting at home.




Q8- Which software is used in digital communication?

Ans- Network and Internet are used for digital communication.

Q9- For what purpose is IT used in business?

Ans-a) Computers are used in business organisations for payroll calculation, budgeting,
sales analysis, financial forecasting, managing and maintaining stocks.

b) A lot of business transactions happen through Internet called e-commerce.

C) IT helps in marketing, customer visit, product browsing, tax and shopping,

receipt and process order, Online banking, ticket booking etc.

Q10- Which are the prominent areas where IT is used in science and

engineering?

Ans- IT is used in research and development.

Q11- List the various uses of IT in a banking system.

Ans- Every activity of a bank is now online, like:

® The customer’s data and transactions are recorded by computers.

® Recurring deposits, Fixed deposits, money transfer from one account to another
(NEFT, RTGS), online transactions are done using Internet.

® Capital market transactions, financial analysis and related services are available
in online platforms.

® ATM is used for cash deposits and withdrawal.

Q12- Which are the different areas of healthcare where IT is used?

Ans-IT is widely used in health care. Today, computers are used everywhere from

patient bedsides, medical carts, nurse stations, laboratories, and operating rooms.

Q13- What is the purpose of IT?

Ans- The purpose of an information system is to turn raw data into useful information

that can provide the correct knowledge for decision making within an organisation.

Q14- Difference between IT and ITeS.

Ans-

IT stands for Information Technology.

ITES is for information technology enabled services.
IT is the study of the design, management, development, implementation, and support of computer-
based information systems, typically about computer hardware and application software.

ITES is part of IT. ITES Self means IT with enabled services. ITES is the study of outsourced service

which has arisen due to involvement in various fields of IT such as banking and finance, BPO, call




centres, etc.

Q15- What is BPO?

Ans- BPO is business process outsourcing, which technically means giving your

backend processes to another company (vendor) to perform on their behalf.

Q16- What is the purpose of BPO?

Ans- The primary goal is to cut costs, free up time, and focus on core aspects of the

business.

Q17- How BPO speeds up the business process? Explain.

Ans- One of the biggest advantages of BPOs is that they increase the speed of the business processes
outsourced to them. They have a very good response time and the clients can focus on the core
activities. This fragmentation of activities speeds up the

whole process and is very important in cases like customer service.

Q18- How BPM is helpful to an organisation?

Ans- In the short term, BPM helps organizations decrease costs and increase efficiency. This can mean
more revenue and growth for companies, as well as increased speed, organization, and efficiency for
government agencies. In the long

run, BPM helps create competitive advantage by improving organizational agility.

Q19- What is the use of IT in communication?

Ans- Information and Communication Technologies (ICTs) is a broader term for Information
Technology (IT), which refers to all communication technologies, including the internet, wireless
networks, cell phones, computers, software, middleware, video-conferencing, social networking, and
other media applications and

services.

Q20- What is the purpose of ITes?

Ans- Increases company’s flexibility.
Regulates the functioning of the industries smoothly.

Content management.

Note: The students are advised to write this content in their notebook.










